
KTM 450 RALLY REPLICA 2025 <2025><F9399Y8>
INSTRUMENTS / LOCK SYSTEM

72972

Pos Part Number Description Additional Text Quantity

1 0024060136 HH collar screw M6x13 TX30 10.00

2 A58012090760 Antenna bracket 1.00

5 A58012090750 Antenna bracket cmpl. 1.00

6 A58012090700 Carrier for roadbook bracket 1.00

8 A58012091500 Carrier for roadbook bracket u 1.00

9 A58012060000 Combination LED display 1.00

10 31008060000 rubber grommet D=8mm open 4.00

11 76406006001 Knurled handle 2.00

12 A58011084500 Cover connector support 1.00

13 A58011083500 Connector support cmpl. 1.00

14 0081645121 EJOT DELTA PT SCREW 45X12-Z 4.00

15 0650003002500 Rubber grommet D30x7.2 2.00

18 A58011083550 Connector support cmpl. 1.00



19 A58012084550 Iritrack remote control bracke 1.00

20 0025050126 HH collar screw M5x12 TX30 2.00

21 0025060106 HH collar screw M6x10 TX30 1.00

22 0025060086 HH collar screw M6x8 TX30 2.00

23 63503090017 Silent block 20x10 M6x10 5.00

24 A58012084130 Iritrack closure bracket 1.00

25 A58012084500 Iritrack bracket cmpl. 1.00

26 0036010640000 O-ring 6x4 15.00

27 A58007058030 Quick lock pin M6 2.00

28 76212092031 RUB. GROM. 25X15XTYP B CPL. 4.00

29 A58014060500 Dashboard support 1.00

30 0912080756 Cap head screw DIN912 M8X75 10 2.00

31 0125080003 washer DIN 125 A -8.4 6.00

32 0985080003 SELF LOCKING NUT DIN0985-M 8 2.00

33 76712069090 Rubber grommet d24 2.00

34 76711094010 Plug-in base 1.00

35 77714069600 Speedometer digital km/h f. 21 REPROGRAMMABLE:
KM/H - MPH

1.00

36 A58012085066 Tripmaster ICO cpl. 1.00

37 A58012085030 Wheel sensor Tripmaster ICO 1.00

38 A58012189030 ICO retaining bracket 1.00


